
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

9.102 × ________ = 910.2 4.14 × ________ = 4140

7.979 × ________ = 797.9 3.058 × ________ = 3058

2.874 × ________ = 287.4 6.605 × ________ = 6605

7.917 × ________ = 7917 1.134 × ________ = 11.34

5.291 × ________ = 52.91 6 × ________ = 6000

6.014 × ________ = 60.14 2.729 × ________ = 27.29

5.391 × ________ = 53.91 4.141 × ________ = 414.1

10.221 × ________ = 10221 10.692 × ________ = 10692

10.781 × ________ = 107.81 2.359 × ________ = 235.9

1.326 × ________ = 13.26 3.996 × ________ = 39.96
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